Total mass of Structure = 28330 kg.

Total mass of Structure plus counter weight = 28330 kg + 45400 kg =

74 Tonne (Approx)
Total Bearing Surface: 18 m?

Density of Storable Product = 1.4 Tonne / m®

Total mass of stored product = 360 Tonne (Approx)

Total Mass (Full Capacity): 72 Tonne + 360 Tonne =432 Tonnes

Total Bearing Pressure: 432 T /18

m? =

24 T/m? Equal with 0.24 Mpa (Approx)

Total Mass for Half Capacity of Tanks;

180 Tonne + 72 Tonne = 252 Tonne

Total Bearing Pressure; 252 Tonne / 18 m? =14 T/m? or 0.14 Mpa

ITEM | QTY DESCRIPTION MASS
1 1 |Tank Base L/H 3320 kg
2 1 |Tank Base R/H 3315 kg
3 2 |S.S. Vessel 68 m/3 5505 kg
4 2 |Outlet Pipe DN150 94 kg
5a,b 1 |Outlet Pipe DN150 100 kg
6 2 |S.S. Vessel 61 m/3 4860 kg
7 6 |Concrete C/W Standard 4666 kg
8 4 |Concrete C/W Notched 4342 kg
9 2 |Pivot Pins 3 kg
10 2 |Silo outlet pipe half assy 236 kg
11 1 |Gate Valve DN200 2 kg
12 1 |Silo inlet pipe half assy 136 kg
13 1 |Siloinlet pipe half assy 2  |135 kg
14 4 |Gatevalve DN150 1.5 kg
15 5 |Gatevalve DN100 1 kg
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